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Question 1

Question Type: MultipleChoice

During the initial stages of the project, what do activity attributes include?

Options:

A- Activity name, dependencies, assumptions
B- Activity ID, WBS ID, activity name
C- Activity 1D, assumptions, constraints

D- Activity name, WBS ID, activity description

Answer:

B

Question 2

Question Type: MultipleChoice




In the precedence diagramming method, which of the following is a logical relationship for the activities?

Options:

A- Finish-to-start
B- Applying leads and lags
C- Activity-on-node

D- Dependency determination

Answer:

Question 3

Question Type: MultipleChoice

Which of the following is an output of the Estimate Activity Resources process?



Options:

A- Alternative analysis
B- Bottom-up estimating
C- Resource breakdown structure

D- Enterprise environmental factors

Answer:

C

Question 4

Question Type: MultipleChoice

What is a specific advantage of analogous estimating in comparison with other cost estimate techniques?

Options:

A- Uses contingency reserves



B- Less costly and time consuming
C- Can be applied to segments of work

D- More accurate

Answer:

B

Question 5

Question Type: MultipleChoice

Which of the following techniques uses historical information to estimate the activity duration?

Options:

A- Three-point estimating
B- Organizational process asset
C- Analogous estimating

D- Reserve analysis



Answer:

Question 6

Question Type: MultipleChoice

In the three-point estimating technique, if the most likely estimate for an activity to complete is 100 days, the optimistic estimate is 60
days, and the pessimistic estimate is 200 days, what is the expected duration in which the activity will be completed?

Options:

A- 90 days

B- 100 days
C- 110 days
D- 660 days

Answer:

C



Question 7

Question Type: MultipleChoice

Which of these are logical dependencies in a precedence diagram method?

Options:

A- End-to-end
B- Finish-to-end
C- Start-to-end

D- Start-to-start

Answer:

D

Question 8

Question Type: MultipleChoice




Which is the total float for the activity G?

Free Float for activities A-F =0
Total Float for activities A-F =0

Options:

A-0
B-3



C-5
D- 10

Answer:

C
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